{EEEELS )‘/ﬁﬁm

ZER WRERF
LoA BBRES 10-01-0004 I ZOWRICRI—
= RETOEELIN) 28H
DAY o 3
GCP Ba—2 2~4[E] (FE%(34E])
HREE RI& R
By . N ]
%ﬁu% +;9‘:ﬁ7z;& TEmL 1E#% [&5L o |[IL—F 1=
o ;ﬁ e Ggmy |1BR (B35 \ingsEulasms|pt T8 lasmn gs5e %
_ 50ml S =} =
1 F A g 3 3me/ Tl [3A 1: } % b3 B3 55 day[1.2.3.8
J7EFOUE 0mg 1A B 1@ day 1.2.3.8
0] v 1.
18 =]
= day
, LXBSTEE 10mg |58 Il IE dav[ 18 | cppsrenizs
I ] day /\}ﬁﬁx N
day 7
3 ZEE& 100ml S e 1 = L 307y |[day| 1.8
£E& 250ml } Y
4 RCULE = ;;Eg/rﬁ CIREC| Y BrE 1205 |day[ 1.8 | ERIL—F&Y
. 18 = gav DEX,77ER4Y &30
EE& 100ml ; =, %)%T
5 ’7".L\°/’5ltm‘/ 110m2§]g/mz 1; 1 % = HES 307 davy| 1.8 [GemlZ&YUMmER
e o gav %—;i@rf;fs%m:g
ay R INAYY)
6 ZEE 100ml {E:S E 1T [E=E  [FT 3072 |[day] 8 | ,us ’;t"/’ J:tﬁ
‘le_lf\/F — = : day VAL ViE L
] m 1K | 1 | \E#E |EE 1205 |day| 1
_ 18 IEI da
— > s y
8 7>=FFO> Tmg/50ml [1& 1: 1 % EURE HIE 55 dav| 1
—— ] day
o ~=yk—)LS 300ml [1K 1; 1 |6l = H"E 307 [dav] 1
. - o
500ml S ; av
10 RTSFY 70mg/m 1 E } % L 1,5-“-% 12073 gav 1
1 av
18 =]
STE=FSF . day
" ToF 500ml__[1A Bl 2 ElamE E davl 1
— - ay
12 77F VT 500ml S Bl 2 ElamE E 12077 _[dav|[ 2.3
s ] day
13 | Y= F500ml _[TX Bl T R EE (2407 |day| 23
day




